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s | A | v | TOREORR | e | g | g
A(B-+E) B ALK B | IR B E B/A(%) [ C/A(%)
C D
& i) il 147,502 | 143,931 | 141,964 1,967 3,571 97.6 96.2
| S o1 7,460 7,002 7,002 0 458 93.9 93.9
& H IR B
B 13,451 12,576 12,514 62 875 93.5 93.0
X B W 8,399 8,286 8,023 263 113 98.7 95.5
o £3 il 7,753 7,111 7,018 93 642 91.7 90.5
NS | S 1 4,996 4,800 4,700 100 196 96.1 94.1
il JR il 4,440 4,373 4,330 43 67 98.5 97.5
i = il 4,740 4,531 4,337 194 209 95.6 91.5
T A il
Cmomlo K ) 3,460 3,235 3,178 57 225 93.5 91.8
fi s i 1,047 905 887 18 142 86.4 84.7
(A = I X)) ’
¥ ES iy 3,532 3,403 3,304 99 129 96.3 93.5
% L my 2,873 2,802 2,760 42 71 97.5 96.1
& 1, T 3,883 3,715 3,713 2 168 95.7 95.6
A ps iy 2,673 2,495 2,494 1 178 93.3 93.3
H = iy 2,342 2,181 2,179 2 161 93.1 93.0
N il H 1,010 921 904 17 89 91.2 89.5
*A = my 3,677 3,589 3,523 66 88 97.6 95.8
_ b iy 580 568 568 0 12 97.9 97.9
& 3 my 763 735 706 29 28 96.3 92.5
#(19) 224,581 217,159| 214,104 3,055 7,422 96.7 95.3
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Y = Vs = #7}{50)?;]? S =] 1|
s | A | ok | TOARORR | e | g | Ao
A(B+E) B ALK & | MK B E B/A(%) | C/A(%)
C D
i o MW 120,501 | 110,840 | 105,825 5,015 9,661 92.0 87.8
17 & il 6,271 5,805 5,174 631 466 92.6 82.5
® i il 1,987 1,828 1,797 31 159 92.0 90.4
h i il 7,042 6,384 6,267 117 658 90.7 89.0
7K & L 2,883 2,776 2,775 1 107 96.3 96.3
il HH i) 3,513 3,094 3,060 34 419 88.1 87.1
Xij M Hy 4,064 3,518 3,510 8 546 86.6 86.4
B = HT — — — — — — —
= = Hy 661 624 574 50 37 94.4 86.8
5T S T 1,232 977 953 24 255 79.3 77.4
#(10) 148,154 135,846 129,935 5,911 12,308 91.7 87.7
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Tt o HKEDOWNF o N
s | AR | L TIEOIR | i | o | A
A(B+E) B AR B [ BEIOK E B/A(%) | C/A(%)
C D
X B B Wl 12,526 12,067 11,901 166 459 96.3 95.0
N Ok T 27,930 26,970 26,128 842 960 96.6 93.5
i I il 7,046 6,747 6,636 111 299 95.8 94.2
AN e il 1,485 1,485 1,420 65 100.0 95.6
5 % il 3,734 3,408 3,403 5 326 91.3 91.1
K ) il 4,028 3,683 3,647 36 345 91.4 90.5
= FE ok E 1 5,742 5,524 5,233 291 218 96.2 91.1
7 B il
CH koK) 1,983 1,864 1,804 60 119 94.0 91.0
7 =l il
(A H ) 465 416 416 49 89.5 89.5
B F W
CoE o= M) 1,988 1,767 1,309 458 221 88.9 65.8
B F W
Cos WO 1,095 966 947 19 129 88.2 86.5
i 21 Hy — — — — — — —
K N i) 1,101 1,064 1,029 35 37 96.6 93.5
ST it i) 247 247 180 67 0 100.0 72.9
Jis ) iy} 1,150 1,150 1,110 40 100.0 96.5
3 (15) 70,520 67,358 65,163 2,195 3,162 95.5 92.4
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s | EREAR | gk | TVKRONR | g | g | ik
A(B+E) B ﬁﬂgki ﬁiéﬂgki E B/A(%) | C/A(%)
=N Ji i) 6,887 6,136 5,889 247 751 89.1 85.5
fi) 73 i) 15,144 | 13,522 | 13,469 53 1,622 89.3 88.9
HH JI| i} 6,842 5,884 5,701 183 958 86.0 83.3
= P i 2,594 2,206 2,129 77 388 85.0 82.1
A Ik i 1,244 1,106 1,081 25 138 88.9 86.9
(b m| X ) ’ ’ ’
7(3&:% %ﬁ‘i& Eﬁ) 2,341 2,174 2,127 47 167 92.9 90.9
7(3&:% #ﬁﬂﬁ Eﬁ) 723 607 592 15 116 84.0 81.9
’(’é‘:% %ﬁﬂﬁ Eﬁ) 672 561 548 13 111 83.5 81.5
7N 7 gy 1,071 886 853 33 185 82.7 79.6
73 F iny 1,956 1,776 1,706 70 180 90.8 87.2
fE | iy 1,652 1,471 1,471 181 89.0 89.0
= e T 1,190 958 958 232 80.5 80.5
S H my 1,026 874 869 5 152 85.2 84.7
IS FH My 1,257 1,045 846 199 212 83.1 67.3
| i My 2,108 1,855 1,684 171 253 88.0 79.9
K (58 my 768 729 649 80 39 94.9 84.5
& A T 2,889 2,386 2,376 10 503 82.6 82.2
aF(17) 50,364  44,176| 42,948 1,228 6,188 87.7 85.3
W3 (61) 493,619 464,539 452,150 12,389 29,080 94.1 91.6




